QID: 101 -

[n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

rafefea uw & far o fomeul & @ uy g
(?) & TUE W A g7 TEA F FEATI

4 5 6
3 4 2
5 3 3
23 119 | 7

Options:

1)14

2)16

3)20

4)24

Correct Answer: 20
Candidate Answer: 14

QiD:102-
How many triangles are there in the given figure?

& e agpla A e e €2

N

Options:
1)6

2)7
3)8

410
Correct Answer: 8
Candidate Answer: 8



QID:103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices, The columns and rows of Matrix-I are numbered from 0 10 4 and
that of Matrix-It are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘X’ can
be represented by 21, 87, etc., and ‘H’ can be represented by 03, 65, efc.
Similarly, you have lo identify the set for the word “QUIET”,

UE QG Aol Wh GO &R gt g, o iy femedt & @
ot T # R mar {1 Rwedt & Ry o gwar-aeg il & o aoit
grr geffw e &, ohor fom fgu orw g amegpr & & aneypl F TEeT AR
Gfts & F=ar 0 4 ¥ 3R FEN A 5 J 91 3T IR T TH HEW
A O SR URR R 9 R TaFH T g’ g ST oaewdar g
3GTEROT & ol X' @ 21, 87, 31fe grr gfan & wewar § @ W @1 03,
65, e ERT ST ST Whal §1 W O ° T A A BT g
“QUIET” & [T Teg @ ugaraar 3

Matrix-I Matrix-ll
IR G-l
011234 5767|889
O[B[D[FJH[J 5[JIL[E[G]Y
1TIL[{N|P|R]|T 6(H|A[C| I |W
21U X|Z|C|A 7TIFIP|Z|K|U
J|IG|T|K|M|O 3|D[G|X|M|S
41 Q[S|E|W|Y 91B|T|IV|O|Q

Options:
1) 99,20, 30,42, 14

2) 40,79, 67,57,13
3) 40,79, 31,57,96

4) 99, 20, 69, 42, 13
Correct Answer: 40,79, 31, 57,96
Candidate Answer: [ NOT ANSWERED ]

QID:104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR TR MGl # W IH I ARG A AT
o & wy 3mpla Bfea &

2




Options:
1)

2)

4)

L~

=

Correct Answer:

Candidate Answer:

QID:105-
Which answer figure will complete the pattern in the
question figure?

Hid W ZAT ARBIA WS HPid b WUAST oDl QI
FII?




Options:

1)

2)

4)

Correct Answer:

Candidate Answer:

QID : 106 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

T UE gUT # AB {@T wT T@n =W, & & o
AT ABRAt # T Hiad W Hpia WY HTpa A

el uiatasa giof?

W 777777777



Options:
1)

2)

4)

& 3] (& (@

Correct Answer:

o]

Candidate Answer:

ol

QID:107-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & ouy angfodr # REm e e @
AEHRT Dedd aA Tield & g I vl 3o 3THIA
s fears e

:




Options:
1)

2)

O
4}
(R

4)

)
[/

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - By interchanging which two digits the equation will be correct?
43+2x26-2=527
TR &Y aieht ot SN H St TR THIROT T8l gl SIQ?

43+2%x26-2=527
Options:

1)6and 2

6 dAT 2

2)2and3

2913

3)3and 6

3dur6

4)2and 4

2714

Correct Answer: 3 and 6
3duTe6

Candidate Answer: [ NOT ANSWERED ]

QID:109-1f66 @ 17 @ 53 = 641551 and 17 @ 9 @ 99 = 15797, then 41 @ 11 @ 81 =2

I 66 @17 @ 53 =641551AAM17 @9 @ 99=15797 &, @141 @11 @81=7?

Options:
1) 79993
2) 37999
3) 39979
4) 39997

Correct Answer: 39979
Candidate Answer: 39979

QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Roasted
2. Reason
3. Roger
4. Rigid

5. Ripple

frfefa sl @l areaentsr & o1 aTet s & SrgER ford]

1. Roasted
2. Reason
3. Roger
4. Rigid

5. Ripple



Options:
1) 24513

2) 25413
3) 25431

4) 24531
Correct Answer: 24513
Candidate Answer: 24513

QID : 111 - In the following question,select the missing number from the given alternatives.
76,73,71,67,64,62,?
Frfafea vy & Ry 7o el § @ g oie 719 SISl

76,73,71,67,64,62,?
Options:

1) 60

2) 57

3) 58

4)59

Correct Answer: 58
Candidate Answer: 58

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
C, EF, HIJ, LMNO, ?
Te SigeRd foar wa 8, Fores @ g ue g 81 fag g farenedt § § ag gl faeew gy, Sit srgshn ol gr1 R

C, EF, HIJ, LMNO, ?

Options:

1) NOPQR
2) RSTUP
3) PQRST
4) QRSTU

Correct Answer: QRSTU
Candidate Answer: QRSTU

QID : 113 - In the following question, select the odd word pair from the given alternatives.

frferra wer & iy 1 feedt & @ fowm eree gm &1 gihm)
Options:

1) Teacher : Education

SreaTues ; e

2) Judge : Justice
=araneiar : =T
3) Carpenter : Saw

53 1 TR
4) Doctor : Treatment
Rfhearen ; Rifdream

Correct Answer: Carpenter : Saw
<

Candidate Answer: Carpenter : Saw

QID : 114 - In the following question, select the odd number pair from the given alternatives.

frferfra wer & i g feedt & 9 fowm g g &t gl
Options:
1)18:37

2)24:47
3)32:65

4)48:97
Correct Answer: 24 : 47
Candidate Answer: [ NOT ANSWERED ]

QID : 115 - In the following question, select the odd letter pair from the given alternatives.

Pt me A g g fReredt & & o sigr g & gl
Options:
1) El-LM

2) AE - RT
3)10 - WY

4)0U - DF

Cnrrart Anewar' Fl — | M



QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Pen, Ink, Refill
Ig o gAY it - Ry g i & s & e o @@ o wwar &1

e, e, Sfthe
Options:
1

5

2

3

4

g [©) ©

Correct Answer:

Candidate Answer:

QID : 117 - In the following question, select the related word from the given alternatives.
North : South : : South-East : ?
i v & g g el & § F6fda s & gl

IR : &fayur : : gffor-ge : 2
Options:

1) North-West

m_

2) West

uigH

3) North-East
SR
4) East

Correct Answer: North-West

IR-ufgm

Candidate Answer: North-West

FR-ufgm

QID : 118 - In the following question, select the related number from the given alternatives.
226:213::302:?

frfafea me & fig 7 et & § wefda g @ gfg)

226:213::302:7?



Options:
1) 294

2) 289
3) 263

4) 243
Correct Answer: 289
Candidate Answer: 289

QID : 119 - In the following question, select the related letters from the given alternatives.
AIR:ZKO::CAP:?

fFrafafea ny & g 7o et § @ efda siard ot gfgl

AIR:ZKO::CAP:?

Options:

1) ACM

2) ABN

3) BCM

4) BBN
Correct Answer: BCM
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
EXAMINATION
ol el 7 | a8 Tea Y St Y 7T 2168 & 31&R o UANT ek Ta1 S-1aT ST 9ehd|

EXAMINATION
Options:

1) MINE

2) TIME

3) SAME

4) NOTE
Correct Answer: SAME
Candidate Answer: SAME

QID : 121 - Keshav walks 15 km towards south. He takes a right turn and walks 25 km. He takes a right turn and walks 10 km. In which direction is he from his starting
point?
hara gfaror Y 81k 15 .. Ferar &1 95 it 8k ggar & aur 25 R, Tear 81 78 < SR Hear & aur 10 . awar 1 3 o aRfes fig | fhg fam 7 82

Options:
1) South-West
R e

2) South
zfayor

3) South-East
ZIaT

4) West

Correct Answer: South-West

Candidate Answer: South-West
zfeyor

QID:122- A, B, C, D and E are 5 books kept on top of each other. C is kept between A and B. D and E are kept together. E is kept above B. Which book is in the middle?

A, B, C, D ATE, 5 U&idh Toh guR & Sux 1 €1 C, A 9T B & 7egy Tt &1 D 97 E U Wy Tt §1 E, B & SR 7t 81 a0 it qiaren weg § <&t 87

Options:
1)BorE
B 1@t E

2)E
3)C

4)B
Correct Answer: B
Candidate Answer: E



QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All tables are chairs.
IIl. Some tables are cups.

Conclusions:
I. Some cups are chairs.
Il. Some chairs are tables.

i Q7T ueh UM A $© S SR 3 916 I Al R MR $© ey &g 7Y §, gTetifeh 378 Gr=a 91a a2t § fh=an g Ganat 81 9ot fFrepd ug ofiR ftie Fefia o 6 feg
Mg &t § feend, U TG el & SR W gRAETa §1

DU
1. g+t A AT &)
Il. O AT HUBI

forsep:

. 8 HU FHYaT &I

II. & il A &1

Options:

1) Only conclusion (1) follows.
Hadt fFmy (1) 9t 31

2) Only conclusion (11) follows.
et fAwnt (1) wét 8

3) Both conclusion follow.
gt &t foreond Wit &1

4) Neither conclusion (1) nor conclusion (Il) follows.

Tt fred (1) 78 (OKEE]

Correct Answer: Both conclusion follow.

< &t foreeef Wt &

Candidate Answer: Only conclusion (I) follows.

Sreret P (1) @ 21

QID : 124 - In a certain code language, "PHONE" is written as "NFMLC". How is "POINT" written in that code language?

Ueh fafre @i T &, "PHONE" &Y "NFMLC" foRar STidT & | 39 @i 9o & "POINT" ot fohdt epR forar smgem?

Options:

1) NMGLR
2) NMGLS
3) NMHLR
4) NMHMR

Correct Answer: NMGLR
Candidate Answer: NMGLR

QID : 125 - In a certain code language, "BAD" is written as "412" and "MUD" is written as "42113". How is "RUN" written in that code language?

e fAfE dis o #, "BAD" i "412" U1 "MUD" i "42113" forar Sirar 81 39 whte 9T & "RUN" &l foher IR forar saem?

Options:

1) 142118
2) 181213
3) 141218
4) 141412

Correct Answer: 142118
Candidate Answer: [ NOT ANSWERED |

QID : 126 - What is the unit's digit of 125125 + 2162162

125125 + 216216 o7 3ATS 37k T 82
Options:

15

2)1

3)6

47

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 127 - Which fraction among 3/7,5/11 and 6/13 is the largest?

3/7,5/11 au16/13 8§ &9 a1 fA=7 a1 8?
Options:

1)3/7

2) 5/11

3)6/13

4) All are equal

goft ReR &

Correct Answer: 6/13

Candidate Answer: 6/13

QID : 128 - How many positive factors of 160 are there?

[P . W . . Y- VY



Options:

16

2)8

3)5

4)12

Correct Answer: 12
Candidate Answer: 8

QID:129-
What is the value of 1509 +f144 ?
1509 + /144 &1 AT FaT &2

Options:

1) 39

2)37

3) 41

4) 49

Correct Answer: 39
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - What is the value of 42 - 32 + 62 - 52 + 82 - 727

42 -32+62 - 52+ 82 - 72T A T §?
Options:

1) 30

2) 33

3)3

4) 27

Correct Answer: 33

Candidate Answer: 33

QID : 131 - What is the smallest two digit perfect cube?

3 3fehl & S SYEr guf o= @ 7
Options:

1) 25

2)27

3)16

4) 64

Correct Answer: 27

Candidate Answer: 64

QID : 132 - Together X and Y can complete a work in 9 days, Y and Z in 12 days and X and Z in 18 days. Who is the most efficient worker among X, Y and Z?

XaY freht o oht fereR 9 R A qrr e Gand &, Yawr z, 12 i A aen X aen Z, 18 R A qr s Terd €1 X, Y @1 Z & @ 999 Sifdrek shrfgperet i 87
Options:

1) X

2)Y

3)Z

4) Cannot be determined

14 g1 fhaT ST Fehar

Correct Answer: Y

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Pipes P and Q can fill a tank in 12 hours and 36 hours respectively. If both pipes are opened then, how much time (in hours) it will take to fill the tank?

UTSU P QT Q Ueh hl ol ShART: 12 ©¢ TUT 36 6 & R Tehd &1 A &A1 sy o) @iet i 51, it &t @l o1t & fovae T (St 7) iivm?
Options:

19

2)8

3)10

47

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 134 - If the curved surface area of a cylinder is 440 cm? and the height of the cylinder is 10 cm, then what is the radius (in cm) of the cylinder?

R Geh e ot ursf gt et 440 R.3A1.2 & o der By S 10 Ao, &, At S B i (@, d) R @2

Options:
1)7
2)14

3) 21
4)3.5



Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Selling and cost price of an article are Rs 3960 and Rs 3600 respectively. If 12% discount was given, then what is the percentage mark up?

Teh I%g ol AIehd 1o a1 3 1o sl 3960 T du1 3600 T §1 AT 12% &t ge & Tt Y, It Suen sifded Hqed fohast ufaira & srgrn T 8?2
Options:

1)25

2)30

3)35

4)20

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 136 - Cost price of an article is Rs 5500. It was sold at a profit of 9.09%. If the article was sold at a discount of 20%, then what is the marked price (in Rs) of the
article?

Teh %] 3T 3 1o 5500 % &1 I8 9.09% 3 A1 TR <91 47| AfE I ht 20% Y ge U= 49T 74T, < I T Sifcha 7 (3 H) | d?

Options:
1) 6000
2) 7500
3) 6600
4) 6800

Correct Answer: 7500
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Marks of X and Y are in the ratio 3 : 11 respectively. If the marks of X is 9, then find the marks of Y.

X 1Y & iRt T guTd hLn: 3@ 11 §13fE X & 8fer 9 & a1, Y & 3ics 7 gl
Options:

1) 55

2)22

3)33

4) 44

Correct Answer: 33

Candidate Answer: [ NOT ANSWERED ]

QID:138-1fU:V=6:7andV:W=21:6,thenfindU:V:W.

aRU:V=6:7amV:W=21:6,daU:V:WIdHhSul
Options:

1)6:7:6

2)5:4:3

3)6:14:12

4)6:7:2

Correct Answer: 6:7:2

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - What is the average of first 10 even numbers?

Ugett 10 T Ge=Tsii Bl fea o 87
Options:

1)12

2)10

3)13

411

Correct Answer: 11

Candidate Answer: 11

QID : 140 - A man buys 10 oranges for a rupee and selling 8 oranges for a rupee. What is the profit percentage?

Teh 2Afh Toh TTA H 10 TaR WEal & TAT Tep 9T | 8 Tar 7T &1 1 ufaera am &2
Options:

110

2)12.5

3)20

4)25

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED |

QID : 141 - A fan costing Rs 1200 is being sold for Rs 1500. What is the profit percentage?

Teh UET IRt o g 1200 % &, &t 1500 ¥ & a7 Sfrar &1 <17 wfia orm &7

Options:
110

Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]



QID : 142 - If 18% of a number is 720, then what is the 81% of the same number?

Tfe; foneft Tvear &1 18%, 720 &, A I U1 T 81% T 82

Options:
1) 2280
2) 1620
3) 3240
4) 3160

Correct Answer: 3240
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - If Pis 25% less than Q, then Q is how much percent more than P?

I P QY 25% FAE, 1 Q, P | e nfawra aifdves &2
Options:

1)20

2)16.66

3)33.33

4)125

Correct Answer: 33.33
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - A train passes two bridges of length 400 metres and 200 metres in 80 seconds and 60 seconds respectively. What is the length (in metres) of the train?

Teh IeRTIST 400 #iex T 200 #iex o<t &Y el ol shHLT: 80 YhUS TT 60 JhUS H UR & oI & | ITeHTS! ht oalls (Fiex #) s 82

Options:
1) 200
2) 400
3) 350
4) 720

Correct Answer: 400
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - If y is an integer, then (y3 - y) is always multiple of ___.

afe y T quifer &, it (y° - y) W@ ____ a1 1Juret ghvm?
Options:

15

2)7

3)9

4)6

Correct Answer: 6

Candidate Answer: 5

QID : 146 - A certain sum becomes k times in 5 years at compound interest. In 30 years it will become how many times?

T AR i, TeRgfe =met W 5 o 7 k 71 g1 1Tt 8130 ani A ag fova T gt sart?
Options:

1) 5k

2) 6k

3) kb

S

Correct Answer: kb

Candidate Answer: [ NOT ANSWERED ]



QID: 147 -
The pie chart given below shows marks obtained by
Aman in 5 subjects. Maximum marks is 100 for each
subject.

g o or g7 R A e g 5 udienad # uim
A W W|ET T El Udes udem & R
HYRaHA 376 100 B

Social
Science/ Maths /
AT 3TOT, 90
&, 73
Computer/
FHFEYEX, Science /
92 fosma, 75
English/
37313, 80

What is the total marks obtained by Aman in Maths and Science?

3 3 IO qot e A et fohe ofem T foRg &2

Options:
1) 155
2) 165
3)170
4) 145

Correct Answer: 165
Candidate Answer: [ NOT ANSWERED ]

QID: 148 -
The pie chart given below shows marks obtained by

Aman in 5 subjects. Maximum marks is 100 for each
subject.

@ fow or g9 Ry # sraa g 5 udiensd A o
3Rl B SRR AT Bl USAe udem & form
TRaA 37 100 2

Social
Science / Maths /
wrATS ToT, 90
e, 73
Computer/
FFEI, Science /
92 f&aeT, 75
English/
37915, 80

What is the average marks obtained by Aman in all 5 subjects?



Options:

1) 82

2) 83

3) 81

4) 80

Correct Answer: 82

Candidate Answer: [ NOT ANSWERED ]

QID:149 -

The pie chart given below shows marks obtained by
Aman in 5 subjects. Maximum marks is 100 for each
subject.

e fam ow @ =T A AT o 5 udenmsd A o
AT A R TRm gl Uedw udlem & Rw
HTARAA 376 100 T

Social
Science / Maths /
HTATTT F1foT, 90
oA, 73
Computer/
FFIH, Science /
92 e, 75
English/
37315, 80

What is the average marks obtained by Aman in Computer Science, Maths and Social Science?

3 7 TR R, o qeur arfSies e & fhae st o v fovg &2
Options:

1) 84

2) 86

3)87

4) 85

Correct Answer: 85

Candidate Answer: [ NOT ANSWERED ]



QID:150-
The pie chart given below shows marks obtained by

Aman in 5 subjects. Maximum marks is 100 for each
subject.

g o or g7 R A e g 5 udienad # uim
A W W|ET T El Udes udem & R
HYRaHA 376 100 B

Social
Science / Maths /
WA T1foTd, 90
&, 73
Computer/

FHELT, Science /
92 s, 75

English/
37313, 80

Marks obtained by Aman in Maths is how much percent more than the marks in Science?

3 ZRT 0T § uTdich, fammT & vreaient 9 foham wfasra oifdes &7
Options:

1) 25

2)15

3)20

418

Correct Answer: 20

Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Everyone attended the (1)/ seminar except (2)/ Raman and 1. (3)/ No Error (4)/
Options:

01

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

One (1)/ may help (2)/ oneself. (3)/ No Error (4)/
Options:
01

2)2
3)3

44
Correct Answer: 4
Candidate Answer: 3

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Kalpana has no paper to write



Options:
1) upon

2) over
3) at

4) off
Correct Answer: upon
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

She is busy her work.

Options:
1) about

2) with
3) of

4) on
Correct Answer: with
Candidate Answer: with

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Envy

Options:
1) Comfort

2) Hatred
3) Pleasure

4) Kind
Correct Answer: Hatred
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Harmony

Options:

1) Clash

2) Disagreement

3) Consensus

4) Fighting

Correct Answer: Consensus
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Despair

Options:

1) Cheer

2) Misery

3) Faith

4) Trust

Correct Answer: Misery

Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Mitigate

Options:
1) Calm

2) Intensity
3) Ease

4) Pacify
Correct Answer: Intensity
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Superfluous



Options:
1) Excessive

2) Necessary

3) Lavish

4) Abundant

Correct Answer: Necessary

Candidate Answer: [ NOT ANSWERED ]

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Humility

Options:
1) Meekness

2) Reserve
3) Arrogance

4) Shyness
Correct Answer: Arrogance
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Chicken hearted

Options:
1) Obedient

2) Fearful
3) Courageous

4) Doubtful
Correct Answer: Fearful
Candidate Answer: Doubtful

QID : 162 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Draw a line

Options:
1) To fix a limit

2) To be able to read and write
3) To make sacrifice

4) To deceive
Correct Answer: To fix a limit
Candidate Answer: To fix a limit

QID : 163 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Looking back, | realized | (am) wrong.
Options:
1) was

2) were
3) would

4) No improvement
Correct Answer: was
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement”.

Women candidates are (exempted to) paying the application fee.
Options:

1) exempted for

2) exempted from

3) exempted in

4) No improvement

Correct Answer: exempted from

Candidate Answer: No improvement



QID : 165 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The study of population

Options:
1) Biography

2) Orthography
3) Demography

4) Choreography
Correct Answer: Demography
Candidate Answer: Demography

QID : 166 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Something that is hidden

Options:
1) Mystery

2) Doubt
3) Sermon

4) Distort
Correct Answer: Mystery
Candidate Answer: Doubt

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Criminol

2) Criminal
3) Crimnal

4) Criminul
Correct Answer: Criminal
Candidate Answer: Criminal

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Calinder

2) Calindur
3) Calender

4) Calendar
Correct Answer: Calendar
Candidate Answer: Calender

QID : 169 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Deforestation is already held to have
P: areas and its continuation would

Q: lead to further ecological disasters
R: caused irreversible damage in some

Options:

1) PQR

2) RPQ

3) PRQ

4) RQP

Correct Answer: RPQ

Candidate Answer: [ NOT ANSWERED ]

QID : 170 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

A tsunami

P: fallout of an earthquake
Q: on the ocean floor

R: is normally a



Options:
1) RPQ

2) QPR
3) RQP

4) QRP
Correct Answer: RPQ
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

United we stand and divided we fall is a famous proverb which signifies that if we are united and stay together, then one can defeat us. But if we constantly
fight and have or misunderstandings, we may attract to take advantage of ourselves which may ultimately result in failure. The proverb clearly
indicates that unity is the source of strength and people who are united have the capability to any kind of situation as they share each others’ burden and
hardships.

then one can defeat us

Options:

1) no

2) all

3) most

4) many

Correct Answer: no
Candidate Answer: no

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

United we stand and divided we fall is a famous proverb which signifies that if we are united and stay together, then one can defeat us. But if we constantly
fight and have or misunderstandings, we may attract to take advantage of ourselves which may ultimately result in failure. The proverb clearly
indicates that unity is the source of strength and people who are united have the capability to any kind of situation as they share each others’ burden and
hardships.

constantly fight and have or misunderstandings,

Options:

1) reflects
2) conflicts
3) afflicts
4) thoughts

Correct Answer: conflicts
Candidate Answer: reflects

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

United we stand and divided we fall is a famous proverb which signifies that if we are united and stay together, then one can defeat us. But if we constantly
fight and have or misunderstandings, we may attract to take advantage of ourselves which may ultimately result in failure. The proverb clearly
indicates that unity is the source of strength and people who are united have the capability to any kind of situation as they share each others’ burden and
hardships.

we may attract to take advantage

Options:

1) riders

2) animals

3) outsider

4) insects

Correct Answer: outsider

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

United we stand and divided we fall is a famous proverb which signifies that if we are united and stay together, then one can defeat us. But if we constantly
fight and have or misunderstandings, we may attract to take advantage of ourselves which may ultimately result in failure. The proverb clearly
indicates that unity is the source of strength and people who are united have the capability to any kind of situation as they share each others’ burden and
hardships.

ourselves which may ultimately result in failure.
Options:

1) one's

2) there

3) his

4) our

Correct Answer: our

Candidate Answer: his



QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

United we stand and divided we fall is a famous proverb which signifies that if we are united and stay together, then one can defeat us. But if we constantly
fight and have or misunderstandings, we may attract to take advantage of ourselves which may ultimately result in failure. The proverb clearly
indicates that unity is the source of strength and people who are united have the capability to any kind of situation as they share each others’ burden and
hardships.

are united have the capability to any kind

Options:

1) tackle

2) crackle

3) mingle

4) buckle

Correct Answer: tackle

Candidate Answer: [ NOT ANSWERED |

QID : 176 - For a country having an inflationary situation, which of the following statements is INCORRECT?

foreft 2 & gerhifa ft Ffa &, FefefRa A d s e st adi 6 2

Options:

1) Cost of living rises

Sttt fRafg T 9¢ St &

2) Profit rise faster than wages

FoTgd Y gorT F @t ot F Fed &

3) Value of money falls

Guft T S glaT 8

4) Country's export's become more competitive

31 & frafa sife nioeogf @t o &€

Correct Answer: Value of money falls

Guoft 1 S glaT 8

Candidate Answer: Cost of living rises
faig omTa g

QID : 177 - Weaving of clothes by using cotton fiber comes under which sector of Economic activity?

HUTE & AT T ITANT R hUS T Y 3nffen nfafafey foper gsren & ofarid el &2

Options:
1) Secondary sector

2) Primary sector
mItAs
3) Tertiary sector

4) Quaternary sector
<

Correct Answer: Secondary sector

Candidate Answer: Secondary sector

QID : 178 - Which Act prohibited discrimination on the basis of race, religion (or) national origin?

fora sifdforem 3 7%, o aur Tt He o SR W Seg o Aty e R mar ar?
Options:

1) Civil Act
TR

2) Rights Act
SR st
3) Civil Rights Act
AR SRR

4) None of these
AR &S T

Correct Answer: Civil Rights Act
AriRes siftreRr sifdfas

Candidate Answer: Civil Rights Act
AR SfeR sifafram

QID : 179 - Which among the following countries does not have a documented constitution?

frafafEa & & e 3 & ura yafda S =i 82

Options:

1) India
R

2) Pakistan
lERSIC]

3) America
SR

4) Britain
fares



Correct Answer: Britain
e

Candidate Answer: Britain
e

QID : 180 - Swadeshi Movement was known by which name in deltaic Andhra?

T TSI aht 31iST & ST SATehl B R A1 § ST e Ar?

Options:
1) National Movement

2) Freedom Movement

3) Vande Matram Movement

.t :

4) Anti-British Movement

fafear fa=iet ari

Correct Answer: Vande Matram Movement
T ATaRH 3

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Which Sultan shifted his capital from Delhi to Daulatabad?

fora geam 3 sroet wsrer ) Reelt @ fedrare 7 sgar ar?

Options:
1) Alauddin Khialji
STATSE A Fierstt

2) Muhammad Tughlag

TeHAe T

3) Feroz Shah Tughlaq

fORRIT ITg Tk

4) Khizr Khan

fegam

Correct Answer: Muhammad Tughlaq
TeHe it

Candidate Answer: Muhammad Tughlaq
TeHAa eTeh

QID : 182 - The pole star indicates which direction?

$Ja IRT i ff feam t gufar 82

Options:
1) North
3R

2) South
Zigor

3) East

&
4) West
A

Correct Answer: North
IR

Candidate Answer: East

eSSl

QID : 183 - Which one of the following pair is INCORRECT with respect to Solstice and Equinox?

ST (iafed) qun e (seiFiew) & dey d iy g et d § ol a1 98t =1gi 82
Options:

1) 21 March — Equator

21 A7 - e @M

2) 21 June - Tropic of Cancer

21 S - & @

3) 22 December - Tropic of Capricorn

22 feieR - gaRe

4) 23 September — North Pole

23 R - It @

Correct Answer: 23 September - North Pole
23 R - I ¢@

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - Night blindness is caused due to .

Tielt (ITse =Eea) & HROT gl &1



Options:
1) less drinking of water

el I A QI

2) excess secretion of pineal gland
difraet 7S a1 sif wmeoT

3) Vitamin A deficiency

ferfim g i &t

4) inheritance by X-chromosome
TG OIS GRS SITaifRichar
Correct Answer: Vitamin A deficiency
freTfom g i &t

Candidate Answer: Vitamin A deficiency
ferfam v hr

QID : 185 - What is thick vein present in the middle of the leaf called?

Uit & wea | Hiél 17 At R wgd §?

Options:
1) Midrib
A far

2) Leaf venation
-

3) Reticulate
Sferent Tt

4) Parallel venation
iR o=

Correct Answer: Midrib
aer R

Candidate Answer: Reticulate

QID : 186 - Which one of the following is connected with transport of water in plants?

frafefa 7 § & didl § urf & uRag 3 Jerd?
Options:

1) Phloem

TATOH

2) Xylem
SiTge™

3) Epidermis
gt

4) Cambium
Hferaw

Correct Answer: Xylem
SIEGLE

Candidate Answer: Xylem
SiTge™

QID : 187 - Kilowatt hour (kWh) represents the unit of which of the following?
fereitaTe guer (kWh) ffeira & & forerent A 82

Options:

1) Electrical Power
[ERGRIED

2) Force

EE}

3) Momentum

4) Energy
It
Correct Answer: Energy

Candidate Answer: Electrical Power

[ERGRIRT

QID : 188 - A wound watch spring has energy.

e G9! Y A 7 St gieil &1

Options:
1) Electrical

2) Kinetic
LG

3) Potential
s

4) both kinetic and potential
3 miferet e fRAfas

Correct Answer: Potential

Candidate Answer: Potential



QID : 189 - Which of the following NOT a web browser?
I.Mozilla Firefox

Il.Opera

Il.Shalimar

frafafea & 3 &9 a1 U 39 TeeR T8 82
| AT TR TeRT

[1.37ORT

1.8Tef AR

Options:
1) Only |
e |

2) Only Il and Il
Fadt [l aur il

3) Only Il
had |l

4) Only Il
hae Il

Correct Answer: Only IlI
il

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - Soaps are sodium salts of which of the following?

T e 7 & v Sifeaw waor g 82

Options:

1) Mineral acids
@t et

2) Fatty acids
T 3R

3) Lactic acid
Al T

4) Carbonic acid

A
Correct Answer: Fatty acids
T 3T

Candidate Answer: Carbonic acid
iero)

QID : 191 - Vitamin C is also known as

R cal__ am @ o s simar 8l
Options:
1) Ascorbic acid
feich 3t
2) Tartaric acid
ST
3) Malic acid
Afcrew et
4) Acetic acid
fife st
Correct Answer: Ascorbic acid
ferch STReT
Candidate Answer: Ascorbic acid
feieh ST

QID : 192 - Which among the following can be termed as a "dynamic living entity"?

frfafaa 4 3 fng ue "nfafie Ioiia Serg” ohgt S 9ehar &2
Options:

1) Tree

&l

2) Water

K]

3) Forest

99

4) Air

ag

Correct Answer: Forest
aq

Candidate Answer: Air

ag

QID : 193 - When was "Pradhan Mantri Sukanya Samridhi Yojana" launched?



Options:

1) September 2014
fader 2014

2) August 2015
ST 2015

3) January 2015
SHad 2015

4) January 2016
et 2016

Correct Answer: January 2015
SHat 2015

Candidate Answer: September 2014
ez 2014

QID : 194 - Who among the following invented Diesel Engine?

frafafea 7 @ fovest Sivra S5 o1 sfasar fosar a1?

Options:
1) Otis
aifew

2) Rudolf Diesel
FSIeh S

3) Larry Page

A o1

4) Rane Laennec
kS

Correct Answer: Rudolf Diesel
FSITH

Candidate Answer: Rudolf Diesel

QID : 195 - How many players are there in a football team?

esifer 2 3 e et 81 872
Options:

1)10

2)12

3)13

4) 11
Correct Answer: 11
Candidate Answer: [ NOT ANSWERED |

QID : 196 - Which was the first talkie feature film of India?

IR 6w eafy ey fhew i o oft?
Options:

1) Alam Ara

SHTeTH ART

2) Shree Pundalik

oft geferem

3) Raja Harischandra
TSI i

4) Keechaka Vadham
agH

Correct Answer: Alam Ara
S{TeTH 3IRT

Candidate Answer: Raja Harischandra
TSI i

QID : 197 - Which film has won the Best Feature Film award in 64'" National Awards?

643 IET REHR F FIAS Areaeuh fOher w1 qrenR e fOhew 7 Sitar &2

Options:
1) Pink
i

2) Dhanak
TR

3) Kasaav
Gich
4) Mahayodha Rana
YT RTT
Correct Answer: Kasaav
Bich

Candidate Answer: [ NOT ANSWERED ]



QID : 198 - Who is the co-author of the book named "Playing It My Way"?

"t 5 ATS " AT I o Ug-oIaeh i 87
Options:
1) Boria Majumdar

TR

2) Indu Anand

g 3Tg

3) Mary Kom

Enfeoed

4) Jaswant Sinha

ST fRigT

Correct Answer: Boria Majumdar

AT ASpTRR
Candidate Answer: Boria Majumdar

i AspEER

QID : 199 - Which country released 'Asian Century White Paper' with an aim to extend and strengthen it links with Asia?

T 321 F gfran & Tryr e T ok $9 Aoigd oA & Jed I YIRS Qaredt Sa o SR foRa?
Options:

1) United States of America

Tg<h 59

2)vAustraIia

3) France

¥
4) Germany
St

Correct Answer: Australia

Candidate Answer: France
i

QID : 200 - In which year India-Bhutan Foundation was established?

R TTeT RS-+ WS &Y T g8 of?

Options:
1) 1993

2)1998
3) 2003

4)2010
Correct Answer: 2003
Candidate Answer: [ NOT ANSWERED ]



